

## ON TWO PAIRS OF NON-SELF HYBRID MAPPINGS

LJUBOMIR B. ČIRIĆ , JEONG SHEOK UME and NEBOJŠA T. NIKOLIĆ

(Received 2 November 2005; revised 31 May 2006)

Communicated by A. Pryde

### Abstract

In this paper we obtain some results on coincidence and common fixed points for two pairs of multi-valued and single-valued non-self mappings in complete convex metric spaces. We improve on previously used methods of proof and obtain results for mappings which are not necessarily compatible and not necessarily continuous, generalizing some known results. In particular, a theorem by Rhoades [19] and a theorem by Ahmed and Rhoades [2] are generalized and improved.

2000 *Mathematics subject classification*: primary 54H25, 47H10.

### 1. Introduction

Let  $(X, d)$  be a complete metric space and  $CB(X)$  be the set of all non-empty closed bounded subsets of  $X$ . Denote by  $H$  the Hausdorff metric induced by the metric  $d$ , and for any  $x \in X$  and  $A \subseteq X$  set  $D(x, A) = \inf\{d(x, y) : y \in A\}$ .

Extending the Banach contraction principle, Nadler [16] and Markin [15] first initiated the study of fixed point theorems for multi-valued contraction self-mappings. Assad and Kirk [4] first studied fixed point theorems for multi-valued contraction non-self mappings in a complete metrically convex metric space  $(X, d)$ , using the fact that if  $K$  is any non-empty closed subset of  $X$  then for each  $x \in K$  and  $y \notin K$  there exists a point  $z \in \partial K$  (the boundary of  $K$ ) such that  $d(x, z) + d(z, y) = d(x, y)$ .

In the last four decades several authors have proved some fixed point or common fixed point theorems for self-mappings (see, for example, [5, 12, 13, 15, 16, 17, 20]) or for non-self mappings (see, for example, [1]–[4], [6]–[11], [14, 18, 19, 21]) Some applications of non-self mappings are given by Assad and Kirk [4] and by Tsachev and Angelov [21].

Recently Ahmed and Rhoades [2] generalized and improved the result of Rhoades [19]. They proved the following theorem.

**THEOREM 1.1 (Ahmed and Rhoades [2]).** *Let  $(X, d)$  be a complete metrically convex metric space and  $K$  be a non-empty closed convex subset of  $X$ . If mappings  $F, G : K \rightarrow CB(X)$  and  $S, T : K \rightarrow X$  satisfy the following condition*

(1.1)

$$H(Fx, Gy) \leq h \max \left\{ \frac{d(Sx, Ty)}{a}, D(Sx, Fx), D(Ty, Gy), \frac{D(Sx, Gy) + D(Ty, Fx)}{a + h} \right\}$$

for all  $x, y$  in  $X$ , where

$$0 < h < \frac{-1 + \sqrt{5}}{2}, \quad a \geq 1 + \frac{2h^2}{1 + h}$$

and

- (i)  $\partial K \subseteq SK \cap TK, FK \cap K \subseteq TK, GK \cap K \subseteq SK,$
- (ii)  $Tx \in \partial K$  implies  $Fx \subseteq K, Sx \in \partial K$  implies  $Gx \subseteq K,$
- (iii)  $(F, S)$  and  $(G, T)$  are compatible mappings,
- (iv)  $F, G, S, T$  are continuous on  $K,$

then there exists a point  $z$  in  $X$  such that

$$Sz = Tz \in Fz \cap Gz.$$

The purpose of this paper is to generalize the theorem of Rhoades [19] and Theorem 1.1, weakening the condition for the coefficient  $h$  and removing the hypotheses of compatibility and continuity for the mappings. We prove coincidence and common fixed point theorems for not necessarily compatible and not necessarily continuous non-self mappings  $F, G, S$  and  $T$ , which satisfy (1.1) with  $0 < h < 2/3$ . To accomplish that, we improve on the methods of proof used by Rhoades [19] and Ahmed and Rhoades [2].

## 2. Results

**THEOREM 2.1.** *Let  $(X, d)$  be a metrically convex metric space and  $K$  be a non-empty closed subset of  $X$ . If mappings  $F, G : K \rightarrow CB(X)$  and  $S, T : K \rightarrow X$*

satisfy the following condition

(2.1)

$$H(Fx, Gy) \leq h \max \left\{ \frac{d(Sx, Ty)}{a}, D(Sx, Fx), D(Ty, Gy), \frac{D(Sx, Gy) + D(Ty, Fx)}{a + h} \right\}$$

for all  $x, y$  in  $X$ , where

$$0 < h < \frac{2}{3}, \quad a \geq 1 + \frac{2h^2}{1+h}$$

and

- (i)  $\partial K \subseteq SK \cap TK$ ,
- (ii)  $FK \cap K \subseteq TK, GK \cap K \subseteq SK$ ,
- (iii)  $Sx \in \partial K$  implies  $Fx \subseteq K, Tx \in \partial K$  implies  $Gx \subseteq K$

and  $S(K)$  and  $T(K)$  are complete, then there exist points  $u$  and  $w$  in  $K$  such that

$$Su \in Fu, \quad Tw \in Gw, \quad Su = Tw \quad \text{and} \quad Fu = Gw.$$

**PROOF.** If  $F(K), G(K), S(K), T(K) \subseteq K$  then the Theorem holds without the hypothesis of convexity of  $X$  and under a contractive condition weaker than condition (2.1). The proof in that instance is much simpler, since Cases 2 and 3 do not occur. We will give a proof under the hypothesis that each of the mappings  $F, G, S$  and  $T$  is not necessarily a self-mapping.

Let  $x \in \partial K$  be arbitrary. We construct three sequences:  $\{x_n\}$  and  $\{z_n\}$  in  $K$  and a sequence  $\{y_n\}$  in  $X$  in the following way. Set  $z_0 = x$ . Since  $z_0 \in \partial K$ , by (i) there exist points  $x'_0, x''_0 \in K$  such that  $Sx'_0 = Tx''_0 = z_0$ . Consider the choice  $z_0 = Sx'_0$ . In this case we denote  $x_0 = x'_0$ . Now  $Sx_0 \in \partial K$  implies  $Fx_0 \subseteq K$ , so we conclude that  $Fx_0 \subseteq K \cap FK$ . Then from (ii),  $Fx_0 \subseteq TK$ . Thus there exists an  $x_1 \in K$  such that  $Tx_1 \in Fx_0 \subseteq K$ . Set  $z_1 = y_1 = Tx_1$ . Let  $c$  be any real number such that

$$(2.2) \quad 1 < c \quad \text{and} \quad ch = q < \frac{2}{3}$$

(for example,  $c = 1 + 2/3 - h$ ). Since  $y_1 \in Fx_0 \in CB(X)$ , from Nadler [16] we know that there exists a point  $y_2 \in Gx_1$  such that

$$d(y_1, y_2) \leq cH(Fx_0, Gx_1).$$

If  $y_2 \in GK \cap K$  then from (ii) we have  $y_2 \in SK$  and so there is a point  $x_2 \in K$  such that  $Sx_2 = y_2 = z_2 \in Gx_1$ .

If  $y_2 \notin K$  then by  $z_2$  we denote a point in  $\partial K$  such that

$$d(y_1, z_2) + d(z_2, y_2) = d(y_1, y_2).$$

There are two possibilities :  $d(z_2, y_2) \leq (1/2)d(y_1, y_2)$  or  $d(z_2, y_1) < (1/2)d(y_1, y_2)$ .

If the first possibility occurs, then we choose  $x_2 \in K$  such that  $Sx_2 = z_2$ . This choice is possible by (i), as  $z_2 \in \partial K \subseteq SK$ . Now we choose a point  $y_3 \in Fx_2$  such that

$$(2.3) \quad d(y_2, y_3) \leq cH(Gx_1, Fx_2).$$

Since  $Fx_2 \in FK \cap K \subseteq SK$ , it follows from (ii) that there is a point  $x_3 \in K$  such that  $Tx_3 = y_3$ .

If the second possibility occurs, that is, if  $d(z_2, y_1) < (1/2)d(y_1, y_2)$ , then by  $x_2$  we denote a point in  $K$  such that  $Tx_2 = z_2$ . This choice is possible because  $z_2 \in \partial K \subseteq SK \cap TK$ . Since  $y_1 \in Fx_0$ , we can choose a point  $y_3 \in Gx_2 \subseteq K$  such that

$$(2.4) \quad d(y_1, y_3) \leq cH(Fx_0, Gx_2).$$

Since  $y_3 \in Gx \cap K \subseteq SK$ , there is a point  $x_3 \in K$  such that  $Sx_3 = y_3$ .

Continuing the foregoing procedure we construct sequences  $\{x_n\} \subseteq K$ ,  $\{z_n\} \subseteq K$  and  $\{y_n\} \subseteq FK \cup GK$  such that:

- (i)  $y_n \in Fx_{n-1}$  or  $y_n \in Gx_{n-1}$ ,
- (ii)  $z_n = Sx_n$  or  $z_n = Tx_n$ ,
- (iii)  $y_n = z_n$  if and only if  $y_n \in K$  and in this case :  
if  $y_n \in Fx_{n-1}$  then  $z_n = Tx_n$  and  $y_{n+1} \in Gx_n$  is such that

$$d(y_n, y_{n+1}) \leq cH(Fx_{n-1}, Gx_n),$$

or, if  $y_n \in Gx_{n-1}$  then  $z_n = Sx_n$  and  $y_{n+1} \in Fx_n$  is such that

$$d(y_n, y_{n+1}) \leq cH(Gx_{n-1}, Fx_n),$$

- (iv)  $y_n \neq z_n$  whenever  $y_n \notin K$  and then  $z_n \in \partial K$  is such that

$$d(y_{n-1}, z_n) + d(z_n, y_n) = d(y_{n-1}, y_n)$$

and

- (iv.i) if  $d(z_n, y_n) \leq (1/2)d(y_{n-1}, y_n)$ , then  
if  $y_n \in Fx_{n-1}$  then  $z_n = Tx_n$  and  $y_{n+1} \in Gx_n$  is such that

$$d(y_n, y_{n+1}) \leq H(Fx_{n-1}, Gx_n)$$

or, if  $y_n \in Gx_{n-1}$  then  $z_n = Sx_n$  and  $y_{n+1} \in Fx_n$  is such that

$$d(y_n, y_{n+1}) \leq H(Gx_{n-1}, Fx_n),$$

(iv.ii) if  $d(y_{n-1}, z_n) < (1/2)d(y_{n-1}, y_n)$ , then

if  $y_n \in Fx_{n-1}$ , then  $z_n = Sx_n$  and  $y_{n+1} \in Fx_n$  is such that

$$d(y_{n-1}, y_{n+1}) \leq cH(Gx_{n-2}, Fx_n),$$

or, if  $y_n \in Gx_{n-1}$  then  $z_n = Tx_n$  and  $y_{n+1} \in Gx_n$  is such that

$$d(y_{n-1}, y_{n+1}) \leq cH(Fx_{n-2}, Gx_n).$$

**OBSERVATION.** If  $z_n \neq y_n$  then  $z_n \in \partial K$ , which implies  $z_{n+1} = y_{n+1} \in K$ . This implies that also  $z_{n-1} = y_{n-1} \in K$ , since otherwise  $z_{n-1} \in \partial K$  which implies that  $z_n = y_n \in K$ .

Now we wish to estimate  $d(z_n, z_{n+1})$ . If  $d(z_n, z_{n+1}) = 0$  for some  $n$  then it is easy to show that  $z_{n+k} = z_n$  for all  $k \geq 1$ .

Suppose that  $d(z_n, z_{n+1}) > 0$  for all  $n$ . From the Observation we conclude that there are three possibilities.

Case 1. Let  $z_n = y_n \in K$  and  $z_{n+1} = y_{n+1} \in K$ . Suppose, without loss of generality, that  $z_n = y_n = Tx_n \in Fx_{n-1}$ . Then  $z_{n+1} = y_{n+1} \in Gx_n$ ,  $z_{n-1} = Tx_{n-1}$  (observe that  $z_{n-1}$  is not necessarily equal to  $y_{n-1}$ ) and points  $y_n$  and  $y_{n+1}$  are chosen such that  $d(y_n, y_{n+1}) \leq cH(Fx_{n-1}, Gx_n)$ . Then from (2.1) and (2.2),

$$\begin{aligned} (2.5) \quad d(y_n, y_{n+1}) &\leq cH(Fx_{n-1}, Gx_n) \\ &\leq q \max \left\{ \frac{d(Sx_{n-1}, Tx_n)}{a}, D(Sx_{n-1}, Fx_{n-1}), D(Tx_n, Gx_n), \right. \\ &\quad \left. \frac{D(Sx_{n-1}, Gx_n) + D(Tx_n, Fx_{n-1})}{a+h} \right\} \\ &\leq q \max \left\{ \frac{d(z_{n-1}, z_n)}{a}, d(z_{n-1}, z_n), d(z_n, z_{n+1}), \frac{d(z_{n-1}, z_{n+1})}{a+h} \right\}. \end{aligned}$$

Note that if (2.1) holds for some  $h_1 > 0$  then it also holds for any  $h$  such that  $h_1 \leq h < 2/3$ . Thus we may suppose that  $3/5 \leq h < 2/3$ , which implies that

$$\frac{1}{a} < \frac{3}{4} \quad \text{and} \quad \frac{1}{a+h} < \frac{1}{2}.$$

Thus from (2.1),

(2.6)

$H(Fx, Gy)$

$$\leq h \max \left\{ \frac{3d(Sx, Ty)}{4}, D(Sx, Fx), D(Ty, Gy), \frac{D(Sx, Gy) + D(Ty, Fx)}{2} \right\}.$$

From (2.5) and (2.6),

$$\begin{aligned} d(y_n, y_{n+1}) &\leq q \max \left\{ d(z_{n-1}, z_n), d(z_n, z_{n+1}), \frac{d(z_{n-1}, z_n) + d(z_n, z_{n+1})}{2} \right\} \\ &\leq q \max \{d(z_{n-1}, z_n), d(z_n, z_{n+1})\}. \end{aligned}$$

Hence, as  $z_n = y_n$ ,  $z_{n+1} = y_{n+1}$  and  $q < 2/3$ ,

$$(2.7) \quad d(y_n, y_{n+1}) \leq qd(z_{n-1}, z_n).$$

Note that (2.7) holds whenever  $y_n = z_n$ , without regard to  $y_{n+1} = z_{n+1}$  or  $y_{n+1} \neq z_{n+1}$ .

From (2.7) it immediately follows, since now  $y_{n+1} = z_{n+1}$ , that

$$(2.8) \quad d(z_n, z_{n+1}) \leq qd(z_{n-1}, z_n).$$

Case 2. Let  $z_n = y_n \in K$  but  $z_{n+1} \neq y_{n+1}$ . Then  $z_{n+1} \in \partial K$  is such that

$$d(y_n, z_{n+1}) + d(z_{n+1}, y_{n+1}) = d(y_n, y_{n+1}).$$

Thus  $d(z_n, z_{n+1}) = d(y_n, z_{n+1}) < d(y_n, y_{n+1})$  and from (2.7),

$$(2.9) \quad d(z_n, z_{n+1}) \leq qd(z_{n-1}, z_n).$$

Case 3. Let  $z_n \neq y_n$ . Then  $z_n \in \partial K$ , and

$$(2.10) \quad d(y_{n-1}, z_n) + d(z_n, y_n) = d(y_{n-1}, y_n).$$

Also, by the Observation,  $z_{n+1} = y_{n+1}$  and  $z_{n-1} = y_{n-1}$ .

If we suppose that  $d(z_n, z_{n+1}) \leq d(y_{n-1}, y_n)$  then from (2.7),

$$(2.11) \quad d(z_n, z_{n+1}) \leq qd(z_{n-2}, z_{n-1}),$$

so we shall only consider the case

$$(2.12) \quad d(z_n, z_{n+1}) > d(y_{n-1}, y_n).$$

From (2.10) it follows that there are two possibilities:

$$(2.13) \quad d(z_n, y_n) \leq \frac{d(y_{n-1}, y_n)}{2}$$

or

$$(2.14) \quad d(z_n, y_{n-1}) < \frac{d(y_{n-1}, y_n)}{2}.$$

Case 3a. Suppose that (2.13) holds and, without loss of generality, assume that  $y_n \in Fx_{n-1}$ . Then  $y_{n-1} = z_{n-1} = Sx_{n-1} \in Gx_{n-2}$  and  $y_n \neq z_n = Tx_n$  and, by construction of  $\{y_n\}$  (see (iv.i)),  $y_{n+1} = z_{n+1} = Sx_{n+1} \in Gx_n$  is such that

$$d(y_n, y_{n+1}) \leq cH(Fx_{n-1}, Gx_n).$$

Thus from (2.6) and (2.2),

(2.15)

$$\begin{aligned} d(y_n, y_{n+1}) &\leq cH(Fx_{n-1}, Gx_n) \\ &\leq q \max \left\{ d(Sx_{n-1}, Tx_n), D(Sx_{n-1}, Fx_{n-1}), D(Tx_n, Gx_n), \right. \\ &\quad \left. \frac{D(Sx_{n-1}, Gx_n) + D(Tx_n, Fx_{n-1})}{2} \right\} \\ &\leq q \max \left\{ d(y_{n-1}, z_n), d(y_{n-1}, y_n), d(z_n, z_{n+1}), \frac{d(y_{n-1}, z_{n+1}) + d(z_n, y_n)}{2} \right\}. \end{aligned}$$

Since, from (2.10) and (2.12),

$$\begin{aligned} d(y_{n-1}, z_n) &< d(y_{n-1}, y_n) < d(z_n, z_{n+1}); \\ d(y_{n-1}, z_{n+1}) + d(z_n, y_n) &\leq d(z_n, y_n) + d(y_{n-1}, z_n) + d(z_n, z_{n+1}) \\ &= d(y_{n-1}, y_n) + d(z_n, z_{n+1}) < 2d(z_n, z_{n+1}), \end{aligned}$$

from (2.15) we deduce

$$(2.16) \quad d(y_n, y_{n+1}) \leq qd(z_n, z_{n+1}).$$

Since  $z_{n+1} = y_{n+1}$  and  $z_{n-1} = y_{n-1}$ , from (2.13), (2.16) and (2.7),

$$\begin{aligned} d(z_n, z_{n+1}) &\leq d(z_n, y_n) + d(y_n, y_{n+1}) \leq \frac{d(y_{n-1}, y_n)}{2} + qd(z_n, z_{n+1}) \\ &\leq \frac{q}{2}d(z_{n-2}, z_{n-1}) + \frac{2}{3}d(z_n, z_{n+1}). \end{aligned}$$

Hence

$$(2.17) \quad d(z_n, z_{n+1}) \leq \left(\frac{3}{2}\right)t d(z_{n-2}, z_{n-1}).$$

Similarly, if  $y_n \in Gx_{n-1}$  then one can show that (2.17) holds.

Case 3b. Consider now the second possibility, namely the case when (2.14) holds. We may suppose, without loss of generality, that  $y_n \in Fx_{n-1}$ . Then, by construction of  $\{x_n\}$  (see (iv.ii)), we now have that  $x_n \in K$  is chosen such that  $Sx_n = z_n$ , and  $y_{n+1} = z_{n+1} \in Fx_n$  is such that  $d(y_{n-1}, y_{n+1}) \leq cH(Gx_{n-2}, Fx_n)$ .

Thus from (2.6),

(2.18)

$$\begin{aligned}
 d(y_{n-1}, y_{n+1}) &\leq cH(Gx_{n-2}, Fx_n) \\
 &\leq q \max \left\{ \frac{3}{4}d(Tx_{n-2}, Sx_n), D(Tx_{n-2}, Gx_{n-2}), D(Sx_n, Fx_n), \right. \\
 &\quad \left. \frac{D(Tx_{n-2}, Fx_n) + D(Sx_n, Gx_{n-2})}{2} \right\} \\
 &\leq q \max \left\{ \frac{3}{4}d(z_{n-2}, z_n), d(z_{n-2}, z_{n-1}), d(z_n, z_{n+1}), \frac{d(z_{n-2}, y_{n+1}) + d(z_n, y_{n-1})}{2} \right\}.
 \end{aligned}$$

Since  $y_{n-1} = z_{n-1}$ , from (2.14) and (2.7),

$$\begin{aligned}
 d(z_n, y_{n-1}) &< \frac{1}{2}d(y_{n-1}, y_n) \leq \frac{q}{2}d(z_{n-2}, z_{n-1}) < \frac{1}{3}d(z_{n-2}, z_{n-1}), \\
 d(z_{n-2}, z_n) &\leq d(z_{n-2}, z_{n-1}) + d(y_{n-1}, z_n) < \frac{4}{3}d(z_{n-2}, z_{n-1}), \\
 d(z_{n-2}, y_{n+1}) &\leq d(z_{n-2}, y_{n-1}) + d(y_{n-1}, y_{n+1}).
 \end{aligned}$$

Thus from (2.18),

(2.19)

$$d(y_{n-1}, y_{n+1}) \leq q \max \left\{ d(z_{n-2}, z_{n-1}), d(z_n, z_{n+1}), \left[ \frac{2}{3}d(z_{n-2}, z_{n-1}) + \frac{1}{2}d(y_{n-1}, y_{n+1}) \right] \right\}.$$

If we suppose that  $d(y_{n-1}, y_{n+1}) > q \max \{d(z_{n-2}, z_{n-1}), d(z_n, z_{n+1})\}$ , then from (2.19),

$$d(y_{n-1}, y_{n+1}) \leq \frac{2q}{3}d(z_{n-2}, z_{n-1}) + \frac{q}{2}d(y_{n-1}, y_{n+1}) \leq \frac{2q}{3}d(z_{n-2}, z_{n-1}) + \frac{1}{3}d(y_{n-1}, y_{n+1})$$

and hence

$$d(y_{n-1}, y_{n+1}) \leq qd(z_{n-2}, z_{n-1}),$$

a contradiction. Thus,

$$(2.20) \quad d(y_{n-1}, y_{n+1}) \leq q \max \{d(z_{n-2}, z_{n-1}), d(z_n, z_{n+1})\}.$$

Using the triangle inequality together with (2.14), (2.20), (2.7) and the fact that  $y_{n+1} = z_{n+1}$  and  $y_{n-1} = z_{n-1}$ , we obtain

$$\begin{aligned}
 d(z_n, y_{n+1}) &\leq d(y_{n-1}, z_n) + d(y_{n-1}, y_{n+1}) \leq \frac{1}{2}d(y_{n-1}, y_n) + d(y_{n-1}, y_{n+1}) \\
 &\leq \frac{q}{2}d(z_{n-2}, z_{n-1}) + q \max \{d(z_{n-2}, z_{n-1}), d(z_n, z_{n+1})\} \\
 &\leq \frac{q}{2}d(z_{n-2}, z_{n-1}) + \max \left\{ q d(z_{n-2}, z_{n-1}), \frac{2}{3}d(z_n, z_{n+1}) \right\}.
 \end{aligned}$$



Hence

$$(2.21) \quad d(z_n, z_{n+1}) \leq \frac{3q}{2}d(z_{n-2}, z_{n-1}).$$

Similarly, if  $y_n \in Gx_{n-1}$  then (2.21) holds.

From (2.11), (2.17) and (2.21) we see that in Case 3,

$$(2.22) \quad d(z_n, z_{n+1}) \leq \frac{3q}{2}d(z_{n-2}, z_{n-1}) \quad \text{for all } n \geq 2.$$

From (2.8), (2.9) and (2.22) we conclude that in each of the cases considered we have

$$d(z_n, z_{n+1}) \leq \frac{3q}{2} \max \{d(z_{n-2}, z_{n-1}), d(z_n, z_{n+1})\} \quad \text{for all } n \geq 2.$$

Now, proceeding on the lines of Ćirić [5] and using the fact that  $(3/2)q < 1$ , it can be shown that the sequence  $\{z_n\}$  is a Cauchy sequence and hence converges to some point  $z \in K$ . Since  $S(K)$  and  $T(K)$  are complete, there are points  $u$  and  $w$  in  $K$  such that  $Su = z$  and  $Tw = z$ . By the construction of  $\{z_n\}$ , at least one of its subsequences  $\{z_{n(j)}\}$  or  $\{z_{n(k)}\}$ , defined by  $z_{n(j)} = Sx_{n(j)} \in Gx_{n(j)-1}$ , or by  $z_{n(k)} = Tx_{n(k)} \in Fx_{n(k)-1}$ , respectively, is infinite.

Suppose that the sequence  $\{z_{n(j)}\}$ , with  $z_{n(j)} \in Gx_{n(j)-1}$ , is infinite. For convenience, denote  $z_{n(j)}$ ,  $y_{n(j)}$ ,  $x_{n(j)}$  and  $x_{n(j)-1}$  by  $z_j$ ,  $y_j$ ,  $x_j$  and  $x_{j-1}$ , respectively. Then we have  $z_j = y_j = Sx_j \in Gx_{j-1}$  and  $Tx_{j-1} = z_{j-1} \in K$  (note that  $z_{j-1} = y_{j-1} \in Fx_{j-2}$ , or  $y_{j-1} \neq z_{j-1} \in \partial K$ ).

Since  $z_j \in Gx_{j-1}$ , from (2.1) we deduce that

$$\begin{aligned} D(Fu, z_j) &\leq H(Fu, Gx_{j-1}) \\ &\leq h \max \left\{ \frac{d(Su, Tx_{j-1})}{a}, D(Su, Fu), D(Tx_{j-1}, Gx_{j-1}), \right. \\ &\quad \left. \frac{D(Su, Gx_{j-1}) + D(Tx_{j-1}, Fu)}{a+h} \right\} \\ &\leq h \max \left\{ \frac{d(z, z_{j-1})}{a}, D(z, Fu), d(z_{j-1}, z_j), \frac{d(z, z_j) + D(z_{j-1}, Fu)}{a+h} \right\}. \end{aligned}$$

Taking the limit as  $j \rightarrow \infty$ , we get  $D(Fu, z) \leq hD(z, Fu)$  and hence  $D(Fu, z) = 0$ . Since  $Fu$  is closed,  $z \in Fu$ . Thus we have proved that  $Su \in Fu$ .

Similarly, if  $\{z_{n(k)}\}$ , with  $z_{n(k)} \in Fx_{n(k)-1}$ , is infinite then  $Tw \in Gw$ .

Consider now the case when  $\{z_{n(k)}\}$ , with  $z_{n(k)} \in Fx_{n(k)-1}$ , is finite. In this case we will construct a new infinite sequence  $\{u_n\}$  in  $FK \cap K$  such that  $\lim_{n \rightarrow \infty} u_n = z$ . Since  $\{z_{n(k)}\}$  is finite, it follows that there is some  $n_0$  such that  $z_n \in K \setminus FK$  for all  $n > n_0$ .

Hence there is an infinite subsequence  $\{z_{n(i)}\}$  of  $\{z_n\}$ , defined by  $z_{n(i)} \in \partial K$ . For convenience, we denote  $x_{n(i)}$ ,  $z_{n(i)}$ ,  $z_{n(i)\pm 1}$  and  $z_{n(i)-2}$  by  $x_i$ ,  $z_i$ ,  $z_{i\pm 1}$  and  $z_{i-2}$ , respectively. Now, parallel with the already considered points  $x_i \in K$ ,  $z_i = Tx_i$ ,  $z_{i+1} = y_{i+1} \in Gx_i$  (see Case 3a), we choose a new point  $x_i \in K$  such that  $Sx_i = z_i \in \partial K$  and a point  $u_{i+1} \in Fx_i \subseteq K$  (see Case 3b) such that

$$d(z_{i-1}, u_{i+1}) \leq cH(Gx_{i-2}, Fx_i).$$

This choice is possible because  $z_{i-1} \in Gx_{i-2}$ .

As in Case 3b (see (2.20)), it can be shown that

$$d(z_{i-1}, u_{i+1}) \leq q \max\{d(z_{i-2}, z_{i-1}), d(z_i, u_{n+1})\}.$$

Hence, as  $z_n \rightarrow z$ , it follows that  $u_i \rightarrow z$ . From (2.1),

$$\begin{aligned} D(u_{i+1}, Gw) &\leq H(Fx_i, Gw) \\ &\leq h \max \left\{ \frac{d(z_i, z)}{a}, d(z_i, u_{i+1}), D(z, Gw), \frac{D(z_i, Gw) + d(z, u_{i+1})}{a+h} \right\}. \end{aligned}$$

Taking the limit as  $i \rightarrow \infty$ , we get  $D(z, Gw) \leq hD(z, Gw)$  and hence  $D(z, Gw) = 0$ . Therefore

$$z = Tw \in Gw.$$

Now from (2.1) we have  $H(Fu, Gw) = 0$ . Hence  $Fu = Gw$ . Thus we have proved that

$$Su \in Fu, \quad Tw \in Gw, \quad Su = Tw \quad \text{and} \quad Fu = Gw. \quad \square$$

We note that a coincidence of  $F$  and  $S$  and a coincidence of  $G$  and  $T$  need not be the same point, even if  $F$ ,  $G$ ,  $S$  and  $T$  are single-valued self mappings. The following example shows this.

**EXAMPLE 1.** Let  $X$  be the Euclidean space  $[0, \infty)$  with the usual metric. Define  $F$ ,  $G$ ,  $S$  and  $T$  on  $X$  as follows :

$$Fx = x^2 + 7/64, \quad Gx = x^3 + 7/64, \quad Sx = 8x^2 \quad \text{and} \quad Tx = 8x^3.$$

Then

$$d(Fx, Gy) = |x^2 - y^3| \leq \frac{8|x^2 - y^3|}{4} = \frac{d(Sx, Ty)}{4}.$$

Thus (2.1) holds for all  $x, y \in X$ . Also the other hypotheses (i) and (ii) are satisfied. It is easy to see that  $F(1/8) = S(1/8) = 1/8$  and  $G(1/4) = T(1/4) = 1/8$ . Therefore  $F$  and  $S$  have a coincidence at the point  $u = 1/8$  and  $G$  and  $T$  have a coincidence at the point  $w = 1/4$  and  $F(1/8) = G(1/4)$ .

In Theorem 2.1, if we set  $S = T = id$  (where  $id$  is the identity mapping), we obtain the following result.

**COROLLARY 2.2.** *Let  $(X, d)$  be a complete and metrically convex metric space and  $K$  be a non-empty closed subset of  $X$ . If mappings  $F, G : K \rightarrow CB(X)$  satisfy*

$$H(Fx, Gy) \leq h \max \left\{ \frac{d(x, y)}{a}, D(x, Fx), D(y, Gy), \frac{D(x, Gy) + D(y, Fx)}{a + h} \right\}$$

for all  $x, y$  in  $X$ , where

$$0 < h < \frac{2}{3} \quad \text{and} \quad a \geq 1 + \frac{2h^2}{1+h},$$

and  $x \in \partial K$  implies  $Fx \subseteq K$  and  $Gx \subseteq K$ , then there exists a point  $z$  in  $K$  such that  $z \in Fz \cap Gz$  and  $Fz = Gz$ .

In Corollary 2.2, if we set  $G = F$ , we obtain the following generalization of the Rhoades result in [19].

**COROLLARY 2.3.** *Let  $(X, d)$  be a complete metrically convex metric space and  $K$  a non-empty closed subset of  $X$ . Let  $F : K \rightarrow CB(X)$  be a non-self mapping satisfying*

$$H(Fx, Fy) \leq h \max \left\{ \frac{d(x, y)}{a}, D(x, Fx), D(y, Fy), \frac{D(x, Fy) + D(y, Fx)}{a + h} \right\}$$

for all  $x, y$  in  $X$ , where

$$0 < h < \frac{2}{3} \quad \text{and} \quad a \geq 1 + \frac{2h^2}{1+h}.$$

If  $Fx \subseteq K$  for each  $x \in \partial K$ , then  $F$  has a fixed point.

### Acknowledgements

This work was supported by a Korea Research Foundation Grant funded by the Korean Government (MOEHRD, Basic Research Promotion Fund) (KRF-2006-312-C00026).

### References

- [1] A. Ahmed and A. R. Khan, 'Some fixed point theorems for non-self hybrid contractions', *J. Math. Anal. Appl.* **213** (1997), 275–280.

- [2] A. Ahmed and B. E. Rhoades, 'Some common fixed point theorems for compatible mappings', *Indian J. Pure Appl. Math.* **32**. (2001), 1247–1254.
- [3] N. A. Assad, 'Fixed point theorems for set valued transformations on compact sets', *Boll. Un. Math. Ital. (4)* **8** (1973), 1–7.
- [4] N. A. Assad and W. A. Kirk., 'Fixed point theorems for set valued mappings of contractive type', *Pacific J. Math.* **43** (1972), 553–562.
- [5] Lj. B. Ćirić, 'Fixed points for generalized multi-valued mappings', *Mat. Vesnik* **9** (1972), 265–272.
- [6] ———, 'A remark on rhoades fixed point theorem for non-self mappings', *Internat. J.Math. Math. Sci.* **16** (1993), 397–400.
- [7] ———, 'Quasi-contraction non-self mappings on banach spaces', *Bull. Acad. Serbe Sci. Arts* **23** (1998), 25–31.
- [8] Lj. B. Ćirić, J.S.Ume, M.S. Khan and H. K. Pathak, 'On some non-self mappings', *Math. Nachr.* **251** (2003), 28–33.
- [9] Lj. B. Ćirić and J. S. Ume, 'Some common fixed point theorems for weakly compatible mappings', *J. Math. Anal. Appl.* **314** (2006), 488–499.
- [10] O. Hadžić, 'A theorem on coincidence points for multi-valued mappings in convex metric spaces', *Zb. Radova Univ. u Novom Sadu* **19** (1989), 233–240.
- [11] S. Itoh, 'Multi-valued generalized contractions and fixed point theorems', *Comment. Math. Univ. Carolin.* **18** (1977), 247–258.
- [12] G. Jungck, 'Compatible mappings and common fixed points', *Internat. J. Math. Math. Sci.* **9** (1986), 771–779.
- [13] H. Kaneko and S. Sessa, 'Fixed point theorems for compatible multi-valued and single-valued mappings', *Internat J. Math. Math. Sci.* **12** (1989), 257–262.
- [14] M. S. Khan, 'Common fixed point theorems for multi-valued mappings', *Pacific J. Math.* **95** (1981), 337–347.
- [15] J. T. Markin, 'A fixed point theorem for set-valued mappings', *Bull. Amer. Math. Soc.* **74** (1968), 639–640.
- [16] S. B. Nadler, 'Multi-valued contraction mappings', *Pacific J. Math.* **30** (1969), 475–488.
- [17] B. K. Ray, 'On Ćirić's fixed point theorem', *Fund. Math.* **94** (1977), 221–229.
- [18] B. E. Rhoades, 'A. fixed point theorem for some non-self mappings', *Math. Japon.* **23** (1978), 457–459.
- [19] ———, 'A fixed point theorem for non-self set-valued mappings', *Internat. J.Math. Math. Sci.* **20** (1997), 9–12.
- [20] K. P. R. Sastry, S. V. R. Naidu and J. R. Prasad, 'Common fixed points for multi-maps in a metric space', *Nonlinear Anal.* **13** (1989), 221–229.
- [21] T. Tsachev and V. G. Angelov, 'Fixed points of non-self mappings and applications', *Nonlinear Anal.* **21** (1993), 9–16.

Faculty of Mechanical Engineering  
Al. Rudara 12-35  
11 070 Belgrade  
Serbia and Montenegro  
e-mail: [lciric@afrodita.rcub.bg.ac.yu](mailto:lciric@afrodita.rcub.bg.ac.yu)

Department of Applied Mathematics  
Changwon National University  
Changwon 641-773  
Korea  
e-mail: [jsume@changwon.ac.kr](mailto:jsume@changwon.ac.kr)

Faculty of Organizational Science

Jove Ilica 154

11 000 Belgrade

Serbia

e-mail: [sigma@fon.bg.ac.yu](mailto:sigma@fon.bg.ac.yu)